MERCRUISER [350 Mag MPI MIE]
Serial Mbr Flange: 0w/E30000 Up ()

¥ Tranzmizzion and Related Partz[Hurth 630,/200]

Ref |Clazs|Part

Description

=

Comment

| A

Footnote

9637447 3| TRANSMISSION, [2.0:1 Ratio) (B30 [Mechanical Shift)
9637447 4| TRANSMISSION, [2.50:1 Ratio) (B2 [Mecharical Shift)
637447 5| TRANSMISSION, [2.70:1 Ratio) (B [Mecharical Shift]
8067304 1| TRANSMISSION, [2.85:1 Ratio) (81 [Mechanical Shift)
BEGTO3TOZ TRANSHMISSION, [1.5:1 Ratio) [(B3( [Electric: Shift)
BEGT03TO3 TRANSMISSION, [2.0:1 Ratio) (B3( [Electric: Shift]
BESF03T04 TRANSMISSION, [2.50:1 Ratio) (B [Electric: Shift]
BEEF03TOS TRANSMISSION, [2.70:1 Ratio) (B [Electric: Shift]
BESFO0STON | TRANSMISSION. [2.85:1 Ratio) (81 [Electric Shift)

HE3745T 2

TRAMSMISSION, [1.5:1 Ratio] (530

[Mechanical Shift)
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1 BE3T45T 3| TRANSMISSION, [2.0:1 Ratio] (B30 [Mecharical Shift)
1 BE3745T 4| TRANSMISSION, [2.5:1 Rahio] B30 [Mecharical Shift)
1 8E5704T0Z TRANSMISSION, [1.5:1 Rahio) 630 [Electric: Shift]
1 865704703 TRANSMISSION, [2.0:1 Ratio] (630 [Electric Shift)
1 BESY04T04| TRANSMISSION, [2.5:1 Ratio] (B30 [Electric: Shift)
2 16 805259 |5TUD
2 16 57933|STUD, [437-14/.437-20 » 2.190) [Hurth 2004 Only]
3 12 22248|WASHER. (453 x .875 % .060)
3 12 o552 WASHER [Hurth 8002 Qnly)
4 1 34933 |NUT, [437-20)
4 1 BEIIE|NUT, [437-20] [Huurth 8004, Only)
] 10 474E2|SCREW, [437-14 » 1.250)
g 13 32933 LOCKEMWAASHER. [437] 2
7 734764 1| FLANGE ASSEMBLY, [5.00 % 1.00] OFT
7 794764 3 FLANGE ASSEMBLY, [5.00 x 1.25)(0PT
! 794764 4 FLANGE ASSEMBLY, [5.00 x 1.370PT
i 94764 5 FLANGE ASSEMBLY, [5.00 x 1.50])(0PT
7 734764 6| FLANGE ASSEMBLY, [5.00 % 1.75]) OFT
g8 10 E71| SCREW,[375-16%1.250] 2
a8 10 EOME3| SCREW,[375-16x .750) 2
3 10 805153 SCREW, [437-20 » 1.500) 4
10 13 32933| LOCKWASHER, [437] 4
i i 22024 NUT, [437-14) 4
pRC 12 g7 88031 | SWITCH 1
: N 13 32 805478 1|HOSE. (19.50 2
Ay 14 806238 BRACKET 1
b 7 15 10 4000717124 | SCREW, (M3« 14] 2
Egﬁ\ ! 16384 16 13 40024 7| LOCKWASHER. [M3) 2
\% 17 16 974774 3|5TUD KIT 2 -
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